Relationship fix+— (x+5)? fix — S5sinx fix—Jx2+5 f:x— 55 f;x|—>e—
X — X
Domain —-5<x<5 0<x<2m —-5<x<5 X#5 ?
Range =7

Is one to one?

If not one to one, how to
adapt to make one to one?

Is a function?

If not a function, why not?

fi) =7

Solve f(x) = f~1(x)

How many graphs will you sketch?




. . . 5 e*
Relationship f:x— (x+5)? f:x +— 5sinx fixr—+x2+5 f:x|—>x_5 f:x|—>7
Domain —-5<x<5 0<x<2m —-5<x<5 x+5 ?
Range =7 0<f(x) <100 —5<f(x)<5 f(x) fx)#0 f(x)
Is one to one? Yes No No Yes
. 3
If not one to one, how to Domain: = < x < = ,
- 2 e Domain: 0 < x <5 -
adapt to make one to one? Or——<x<- =
2 2 %
X2
Is a function? Yes No No Yes g
(@]
S
The undefined value o
If not a function, why not? - Not one-one Not one-one x = 5is already ©
removed from domain P
Q
5 5vy+5 S
X

fHx) =2 f1(x) =+x—=5 fHx) = Si”_l(‘) Fla) =x2 -5 |fr@=-+5=2 iy =227 |2
5 y y %
\‘\/ ! \/— E
Solve f(x) = f~1(x) No solutions x=0 No solutions ¥ = 5i2—35 E
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